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E8 1,912 1,914 2,033 2,163 2,232
TEEEH 1,840 1,876 1,939 2,104 2,128
FHEREXR 30(33) 45(35) 37(30) 97(75) 93(67)
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KEB R 50 50 30 29 9 (4)
THE—BRE 50 50 34 16 0
T _HFR=E 50 50 30 21 1
KB B R 46 46 38 10 2 (1)
ARBIA T R E 48 48 31 19 2 (3)
AREAFE B RS 40 37 26 11 0
IKERE R 53 53 33 28 8 (9)
WIHT & A= 48 48 33 17 2
THVEBRE 48 48 42 7 1
/INA AR —F AE 52 52 36 19 3 (D)
/NA AR H R 44 44 31 13 0
HHEBBERKE 44 32 21 11 0
DB R 40 40 30 11 1
HILERE R 46 46 32 15 1 (1)
REH AE 44 35 23 12 0
HAARH “BRE 50 50 33 17 0
IR E == 40 40 32 8 0
RO wEmE 45 45 34 14 3(2)
W RERE 48 48 27 30 9 (5)
W R T HRE 44 44 37 7 0
HERTE = 45 45 31 17 3 (4)
RN NV E R 53 53 33 21 1
PR % Bk 50 50 27 24 1
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WIHT 2 = B Rk=E 50 50 31 20 1 (1)
PHEAH A 43 43 34 10 1(1)
TEARERE 46 46 34 14 2
EERTE R E 52 52 34 27 9 (9)
IR B R 45 45 32 14 1 (1)
AR = F KR 36 35 25 10 0
B A H Al 43 43 27 17 1(1)
M) B R E 49 49 34 18 3 (5)
WL H—BRE 44 44 36 9 1 (1)
KRG NFIEB R 46 46 35 18 7(7)
=R RS 40 24 16 8 0
ZEBME 47 47 28 21 2 (1)
SCARH LB RS 47 47 36 11 0
Gilm/ NAAE RS 48 48 38 16 6 (1)
BERE —BRE 42 42 42 0 0
R B RRE 44 45 31 19 5 (5)
FREES —H AR 44 26 17 9 0
FREE = F AR 44 31 21 10 0
SCARH AL B A 48 48 26 22 0
BT B RE 44 44 33 15 4(2)
ARET B 2 38 38 22 19 3(2)
INE)ITE R 32 30 21 9 0
KIEH —BRE 20 16 0 16 0
AEE =B RE 20 17 0 17 0
2 R ) 20 12 0 12 0
RISV F i = 20 15 0 15 0
LR 15 15 0 15 0
BRI HRE 19 19 0 19 0
W FRIRE B R 28 27 0 27 0
THHE =BRE 15 12 0 12 0
THHMNE R E 15 13 0 13 0
BT —H RS 10 5 0 5 0
& 2 2,232 2,128 1,377 844 93 (67)
XORTHLH GEE BT, BB R ~DFE I 0IR = HEE I T D A AR,




